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ENGLISH VERSION

Instructions:

1. The figures to the right side indicate full marks of the question.

2. Statistical table will be given on request.

1.
)
2)
3)
4)
5)
6)
7)

8)

9)
10)

Answer the following question:

What is Lag variables ?

State the properties of the elasticity of substitution.
What is production function?

State the assumptions of generalized linear model.
What is serial correlation?

Explain Auto - regressive series.

If y = 960 + 96x be the yearly trend equation with 30® June 2015 be
the origin. Then find monthly trend equation.

If the seasonal averages are respectively 50, 70, 65 and 60 then find the
seasonal indices for the first and second season.

State the limitations of Durbin Watson text.

What is cyclical time series ?
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2. (A)

(B)

A)

(B)

3. (A)

(B)

A)

(B)

4. (A)

(B)

A)

Explain the method of instrumental variable to obtain the estimators in
the errors of variables. Also explain the remedies to remove multi-
collinearity.

¥, ¥, ¥y are uncorrelated random variables with known equal variance

oand E(y)) =By~ B+ B E() =By and E(y3) =y + By + B, by
using generalized linear model obtain the least square estimators of

the parameters 3, , 5, and 5.
OR

Explain the generalized least square method. Also state the Aitken’s
theorem.

Explain Heteroscedasticity . Explain the effect of Lag variable in the

model y;, = a+ fy,—1te¢, t=1,2 ... nand explain the estimation
method given by Koyck.

What is stationary time series ? Also explain the auto correlation function
for the continuous series. Also explain the relation between periodogram
and correlation gram.

By stating necessary conditions for auto regressive series

U, , - U, +E,_, prove that (1) E(U?) =tc? (2) E(U,, U,,,) = tc?
where 6% = V(E)).
OR

The first order auto regressive series equationis U, =aU +b+E_,
obtained from the time series {U, . t=1,2 ...... } where A and B are real
variables and the assumptions of the error term €, are given below
E(e)=0 E(®)=V(e)=0>t=1,2... E(g,el)=0 t=t!=1,2......

U,=0 and |a|<| and when t < oo then prove that lim ¢, =ak.
X — 00

State the Euler’s theorem . Also explain the constant elasticity of
substitution production function.

Explain Average product and marginal product. Also explain how to
maximize the production function with respect to the cost function.

Explain the generalized expression of the model for the input output
analysis.
OR
If the theorem of second order auto regressive series are very large
defined by the equation U4, +aU;4+; + bU; —E;4+, =0 then
(1+b) V(e
{(1+b)*=a%}(1-b)

prove that V(U,) =
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(B)

5. (A)

(B)

A)

(B)

Explain in detail about the demand for inputs of productions.

For the stationary time series where €, = €, = ¢ then prove that

1 482-¢ -1
€> -5 and £, > .
2 3 e+1
If g = f(x; x,)m is a homogenous functions with m power than
) 3°f f , 29

prove that xj F—i_ 2 x1X =m(m—1)f.

X1

OR
The production function x = \/ 2Hab — Aa® — Bb? is linear and
Homogenous. Then obtain the maximum value for the production of A.
If the utility function of X, and X, is U= alog (x; + a) + Blog(x, + b)
then prove that the elasticity of substitution of both the commodities
bax; + afx,
(@ +B)xix;

%)
dx; 9x; ox3

1S 0=1+
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